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Past questions: Measures

These questions have been collated from packs 9 (the cinema), 10 (starting college) and 11 (planning a holiday), which are or have been publicly available on our website. The mark scheme for the questions in this collation is provided at the end of this document. 

The questions focus on the following subject content statements, although some questions may also assess other content:

· E3. M12 Read, measure and record time using am and pm
· E3. M13 Read time from analogue and 24 hour digital clocks in hours and minutes
· E3. M14 Use and compare measures of length, capacity, weight and temperature using metric or imperial units to the nearest labelled or unlabelled division
· E3. M15 Compare metric measures of length including millimetres, centimetres, metres and kilometres
· E3. M16 Compare measures of weight including grams and kilograms
· E3. M17 Compare measures of capacity including millilitres and litres
· E3. M18 Use a suitable instrument to measure mass and length

Please note that none of the questions in our live papers are stand alone. The assessments are split into 4 activities worth 10 marks each. Each assessment has a single contextual theme that all the activities are based upon.

Some questions in this collation may have additional wording to the actual past papers to ensure enough context is included from the activity it came from.


Non-calculator questions
Activity 1: Working at the cinema
Paulo works at the cinema.

	[image: G:\External Quality Assurance\Assessment Design\20. FS Reform\1. Development\2. Maths\5. Internal Development\3. Entry Level\pencil icon.jpg]1 (a)
	
	Paulo puts some boxes of sweets on the shelves.

Box A is 8.5 cm wide.

Box B is 82 mm wide.

Box C is 8 cm wide.

Put the boxes in order from narrowest to widest.
[1 mark]


narrowest                                                                                                 widest
_________            _________            _________






		1 (b)











	
	Paulo has got another box of sweets.

He measures this box to see if it will fit on the shelf.

What instrument should he use?

Tick (ü) your answer. 							      
 [1 mark]
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	 A (     )
	B (     )
	C (     )












	1 (c)
	
	Paulo is filling up the drinks machines.

He uses a jug to measure the water. 

[image: G:\External Quality Assurance\Assessment Design\Quals\FS Reform\2. Production\2. Maths\- Planning\Entry Maths Techset\Live Papers 1-9\E3\E3-P9\E3_P9_jug.jpg]























How much water is in the jug to the nearest unlabelled division?
[1 mark]
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Activity 2: Preparing for college	
Alex will soon be starting college.

	2(a)

	
	The bus to college leaves at this time in the morning. 
[image: G:\External Quality Assurance\Assessment Design\Quals\FS Reform\2. Production\2. Maths\- Planning\Entry Maths Techset\Live Papers 10-16\E3\E3-P10\E3-P10_AW\E3-P10_analogue_835.jpg]









The bus journey takes 20 minutes.

It will then take Alex 12 minutes to walk to his classroom. 

What time will Alex get to his classroom?

Write your answer in numbers using the 12 hour clock format.
 [3 marks]
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Calculator questions
Activity 3: Planning a trip to the cinema
Mina is going to the cinema with three friends.

	3 (a)
	
	Mina looks at the film times.

Journey to the Stars
start time     6.20 pm
end time      8.35 pm
Love in London
start time     6.35 pm
end time      8.25 pm








Secret in the Stone
start time     7.25 pm
end time      8.55 pm










They need to be out of the cinema by half past eight in the evening. 

Which film should they watch?
 [1 mark]
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	3 (b)
	
	Mina and her friends need to leave soon to catch the bus to the cinema.

Mina looks at the time now. 
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What time is it? 
[1 mark]
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	3 (c)
	
	Mina and her friends get to the bus stop at quarter to three in the afternoon.

The next bus is due in 17 minutes.

What time is the next bus due? 

Write your answer in numbers using the 12 hour clock format.
[2 marks]
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Activity 4: At the cinema
Mina and her three friends arrive at the cinema.

	4 (a)
	
	Mina buys a bag of sweets.
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How much does the bag weigh to the nearest labelled division?
 [1 mark]
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	Mina’s friend Daniel also buys some sweets. 

He buys the heaviest bag.  

Which bag is the heaviest?

Tick (ü) your answer.
 [1 mark]



sweets
sweets
sweets








	500 g
	1.2 kg
	0.25 kg
	750 g

	A (     )
	B (     )
	C (     )
	D (     )









	4 (c)
	
	The temperature outside is 22°C

This is the temperature inside the cinema. 
[image: G:\External Quality Assurance\Assessment Design\Quals\FS Reform\2. Production\2. Maths\- Planning\Entry Maths Techset\Techset Entry Maths\Image catalogue\Scales\E2-P2_Thermometer 21.png]



























Mina thinks it is hotter outside. 

Is she correct? 

Give a reason for your answer.
 [2 marks]
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Activity 5: Starting college 
Alex goes to college.

	5 (a)
	
	Students go to a welcome meeting in the hall. 

This is the thermometer in the hall.  
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What is the temperature to the nearest unlabelled division?
[1 mark]
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	5 (b)
	
	Alex has a drink after the meeting.

He drinks 600 ml of water. 

He thinks this is more than 0.75 litres of water. 

Is he correct? 

Give a reason for your answer.
 [2 marks]
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Activity 6: At college
Alex is at college all day.	

	6 (a)
	
	Alex sees this jug of orange juice at the college canteen. 
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He thinks there is half a litre of orange juice in the jug.

Is Alex correct?

Give a reason for your answer.
 [3 marks]
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		6 (b)
	
	Alex plays football after lunch.

The college has four outdoor playing fields of different lengths.


	700 metres
	400 metres
	0.5 kilometres
	0.8 kilometres

	       A 
	B 
	C 
	    D 




Alex thinks field A is the longest.

Is he correct?

Give a reason for your answer.
[2 marks] 
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Activity 7: The report 
Alex has to write a report.

	7 (a)
	
	Alex needs a new packet of printer paper.

He opens the heaviest packet.

Which packet does he open?

Tick (ü) your answer. 
[1 mark]
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	100 g
	1 kg
	1000 g
	1.1 kg

	A (    )
	B (    ) 
	C (     )
	D (    )
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	Alex wants to hand in his report.

He sees this notice. 

Reports must be handed in 
between ten past four and ten to five
 in the afternoon.










When can Alex hand in his report? 

Tick (ü) two answers.  
 [2 marks]







	A (    )
	B (    )
	C (     )












	D (    )
	E (    )
	F (    )






	


Activity 8: Choosing a holiday
Claire decides to go to Spain.

	8 (a)
	
	Claire wants to stay close to the beach.

She finds this information.

Sun Hotel
0.5 kilometres 
to the beach
Palm Hotel
490 metres 
to the beach










Grand Hotel
0.6 kilometres 
to the beach
Vista Hotel
540 metres 
to the beach











She thinks the Sun Hotel is the closest hotel to the beach. 

Is she correct? 

Give a reason for your answer.
 [2 marks]
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	Claire buys an envelope to keep her travel money in.  




















width




Measure the width of the envelope.
[1 mark]
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Activity 9: The airport	
Claire goes to the airport.	

	9 (a)
	
	Claire’s flight leaves at 6.35 pm. 

She has to be at the airport two hours before the flight leaves.

It will take her 55 minutes to get to the airport. 

What is the latest time she could leave home? 

Write your answer in numbers using the 12 hour clock format.
   [3 marks]
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	9 (b)
	
	Claire weighs her suitcase.
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How much does her suitcase weigh to the nearest labelled division?
 [1 mark]
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	9 (c)
	
	Claire gets to the check-in desk at this time.
[image: G:\External Quality Assurance\Assessment Design\Quals\FS Reform\2. Production\2. Maths\- Planning\Entry Maths Techset\Live Papers 10-16\E3\Additional -  invoiced with E3 P11\E3-P11_AW\E3-P11_analogue_0440.jpg]




 




What time does the clock show? 
 [1 mark]
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Activity 10: Days out	
Claire visits an animal park on her holiday.

	10 (a)
	
	Visitors can feed the animals in the park. 

The animal park sells bags of animal food. 





horse food
600 g
goat food
0.8 kg









Claire thinks that 0.8 kg is heavier than 600 g

Is she correct?

Give a reason for your answer.
[2 marks] 
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Mark scheme

	Q
	Marks
	UPS/PS
	Process and answer
	Additional or alternative evidence (with guidance)
	SC

	1 (a) 
	1 
	PS 
	(Box) C (Box) B (Box) A 
	All 3 correct for mark 
Accept lengths written 
	M15 

	1 (b) 
	1 
	UPS 
	A indicated only 
	Accept mark other than tick 
	M18 

	1 (c) 
	1 
	UPS 
	850 ml 
	CAO 
	M14b 

	2 (a) 
	3 
	PS 
	9.07 am 
	Award full marks if correct answer seen 
	

	
	1
	
	8.35 
	Correctly reading the clock 
	M13 

	
	1
	
	8.35 + 20 + 12 
or 
9.07 without am 
	Allow FT of their 8:35 
OE to show evidence of measuring time accurately 
OE format eg 7 minutes past 9 
	M12b 

	
	1
	
	9.07 am 
	CAO – must include correct 12hr format 
	M12c 

	3 (a) 
	1 
	PS 
	Love in London only 
	OE 8.25 pm 
Accept Love in London indicated on image 
	M12b 

	3 (b) 
	1 
	UPS 
	2.20 (pm) 
	OE indication of correct time 
eg 20 (minutes) past 2 
	M13 

	3 (c) 
	2 
	PS 
	3.02 pm 
	Award full marks if correct answer seen 
	

	
	1
	
	2.45 + 17 
or 
3.02 without pm 
	OE to show evidence of measuring time accurately 
OE format eg 2 minutes past 3 
	M12b 

	
	1
	
	3.02 pm 
	CAO – must include correct 12hr format 
	M12c 

	4 (a) 
	1 
	UPS 
	140 g 
	CAO 
	M14c 

	4 (b) 
	1 
	UPS 
	B indicated only 
	Accept mark other than tick 
	M16 

	4 (c) 
	2 
	PS 
	Yes and 1 (°C hotter) 
	Decision without reason is 0 marks 
OE decision and valid numerical reason 
eg Yes and 21 (°C) inside 
	

	
	1
	
	…1(°C hotter) 
	OE valid numerical reason 
eg …21(°C) inside 
	M14d 

	5 (a) 
	1 
	UPS 
	22 °C 
	CAO 
	M14d 

	5 (b) 
	2 
	PS 
	No and 0.75 litres/750 ml 
(is more) 
	Decision without reason is 0 marks 
OE decision and valid numerical reason 
eg No and 150 ml less 
	

	
	1
	
	…. 0.75 litres/750 ml (is more) 
	OE valid numerical reason 
eg …150 ml less 
	M17 

	6 (a) 
	3 
	PS 
	No and (there are) 
450 ml/0.45 litres 
	Decision without reason is 0 marks 
OE decision and valid numerical reason 
eg No and 50 ml less 
	

	
	1
	
	500 ml 
	Imp. comparison to 0.5 litres 
	M17 

	
	1
	
	….(there are) 450 ml/0.45 litres 
	Reading scale 
	M14b 

	
	1
	
	No and (there are) 
450 ml/0.45 litres 
	OE 
eg No and 50 ml less 
	M17 

	6 (b) 
	2 
	PS 
	No and D 
	Decision without reason is 0 marks 
OE decision and valid numerical reason 
eg No and 0.8 km 
	

	
	1
	
	…. D 
	OE valid numerical reason 
eg … 0.8 km 
	M15 

	7 (a) 
	1 
	PS 
	D indicated only 
	Accept mark other than tick 
	M16 

	7 (b) 
	2 
	PS 
	A and E indicated only 
	Accept mark other than tick 
	

	
	1
	
	A indicated 

	
	M12a 


	
	1
	
	E indicated 

	
	M13 


	8 (a) 
	2 
	PS 
	No and Palm Hotel 
	Decision without reason is 
0 marks 
OE decision and valid numerical reason 
eg No and 490 metres is less 
	

	
	1
	
	…Palm Hotel 
	OE valid numerical reason 
eg …490 metres is less 
	M15 

	8 (b) 
	1 
	UPS 
	16 cm 
	OE 160 mm ± 2 mm tolerance Accept imperial equivalent 
Accept accurate measurement from image on page 
Assessor to verify 
	M18 

	9 (a) 
	3 
	PS 
	3.40 pm 
	Award full marks if correct answer seen 
	

	
	
	
	6.35 – 2 (hours) 
or 
4.35 without pm 
	OE to show evidence of measuring time accurately 
OE format 
eg twenty five (minutes) 
to five 
	M12b 

	
	
	
	4.35 – 55 (minutes) 
or 
3.40 without pm 
	OE to show evidence of measuring time accurately 
OE format eg twenty (minutes) to four 
	M12b 

	
	
	
	3.40 pm 
	CAO – must include correct 
12hr format 
	M12c 

	9 (b) 
	1 
	UPS 
	20 kg 
	CAO 
	M14c 

	9 (c) 
	1 
	UPS 
	4.40 (pm) 
	OE indication of correct time 
eg twenty (minutes) to five 
	M13 

	10 (a) 
	2 
	PS 
	Yes and 0.8 kg/800 g 
(is heavier) 
	Decision without reason is 0 marks 
OE decision and valid numerical reason 
eg Yes and 200 g more 
	

	
	1
	
	…(it is) 0.8 kg/800 g 
	OE valid numerical reason 
eg…200 g more 
	M16 
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